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3-6 RATE OF CHANGE AND SLOPE

REVIEW: N2-Vi
What is the slope formula? > m= AX2=-X

What do you need to know in order to use the slope formula? +he COOT'd N Q.ke S
of +two poinis on e QUne .

What if we were given a slope and SOME of the needed information? Would you be able to use the
slope formula to solve for the missing information? SURE YOU WOQULD!

Example 1:

Given the points (r, 3) and (5, 9), find the value of r so that the slope of the line passing *
through the two points i =m

So, we want to find the value of r so that the line that passes through each pair of points has the
given slope. To do this, follow these steps:

11 m s an \'n'\'egjg.{, wette iv as m‘T‘
m _Nz-Nv &— proportion
2Set | X=X\ Prep

3.3\"“?2.\'-93,0(0% hn\),Q.’fi?Q&ﬂ, solve Qor '

Let's solve example 1: CY‘, 3} and (5 ,q) > m-= 2 —_— T_YT'\ = .2'_
K\ X2N= \

M_ NN _ L2 9-3 @ﬁ
‘ K- VT Br 90@
m J
2(5-N= | = Cross

Q-2 = (o solve for v. moRipRy
BRI o

check: (r3) ond (532); M=2

23) el

mz\IZ‘\l\ — q—3 _ (o _ %\\\
Yo Xy 5-27 37




ALG 3-6 8-9.notebook November 25, 2019

Find the value of r so the line that passes through each pair of points has the given slope.
1. (5,9),(r-3),m=-4 —7 -q._' m \(z.—\h
X XaN2 T XX,
—i=-3-q _q—__#—f;: AW _ .'
\ -S 71> E@ H(c- ‘5) = -2
- '-I r+ 7 -2
-20

2. (n2).(6.3).m=1 = -3’2_
independent work |_+

G« 5N 2 <—not an integer
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4. (5,3),(r,-5),m=4
independent work é 33 _‘

5. (7,r),(4,6),m=0
independent work
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